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Solving Sequence
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A knot dlagranﬂ 8 cs 9 s 3 Co 1004 5 s 20101105 6 o 1 o 701212» 65 C11

Ideals for irreducible component#ﬂ)f Xpar

It =(u™ —u™ 4 fu+1)

* 1 irreducible components of dim¢ = 0, with total 74 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings

w- (1)

ag —

u+2ud +u >

(
(
(
(
as = (u7 —3u’ —2u® +u
(
(
(
(
(

—ul® — 5048 — 8ub — 3ut +3u? +1
w'® + 448 + 5ub — 3u?
w4+ 1202 + - — 200 — 5
—u?" —11u® 4+ +ud +u
—ul® — 6ul3® — 140! — 14u® — 247 + 6ud + 2ud — 2u
wl” + 7wt + 19013 + 220 + 30 — 14u” — 6w + 4ud + u
w2 +13u30 + - 202 1
ar = \ —u3 — 14032 ... — 8ut —u?

u™ +30u% + - 4+ 20 — 2u
a1z = \ —u™ —29u59 + .- + 6u + u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u"® +4u™ + -+ + 16u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
a1 w7 1051w + 209
Co,Cy u —u ... —185u + 53
€3,C8,C9 ut ru e —ut 1
Cs,Cr Wt w4+ 4 185u+ 53
C6,C11,C12 a4t ut 1
c10 u™ = 7u™ 4 — 1051u 4 209




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
74 73
€1,C10 y' 49y 4+ -+ 4+ 1550953y + 43681
2,4, y™ —4Ty™ 4+ - 4+ 27997y + 2809
C7
€3,C6,C8 y 61y 4 5y +1
€9, C11, C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/=1C8S) Cusp shape
= 0.290768 4+ 1.1173001 1.148721 0
= 0.290768 — 1.1173001 —1.148721 0
= —0.324090 4 1.1109601 —2.96888 + 2.813691 0
= —0.324090 — 1.1109607 —2.96888 — 2.813691 0
= 0.340353 4 1.1115801 1.67515 — 6.841161 0
= 0.340353 — 1.1115801 1.67515 + 6.841161 0

0.802470 + 0.1304251

4.65634 + 11.018501

4.64030 — 7.819311

= 0.802470 — 0.1304251

4.65634 — 11.018501

4.64030 + 7.819311

—0.802459 + 0.0931211

9.88986 — 4.237781

9.30073 + 4.001241

—0.802459 — 0.0931211

9.88986 + 4.237781

9.30073 — 4.001241

= —0.793977 + 0.1309361

—6.917931

0.+ 6.130261

—0.793977 — 0.1309361

6.917931

0. —6.130261

0.795872 + 0.0405311

7.32429 — 2.799681

7.76972 + 2.283861

= 0.795872 — 0.0405311

7.32429 + 2.799681

7.76972 — 2.283861

0.779195 + 0.1294031

2.96888 +- 2.813691

3.02254 — 2.393851

0.779195 — 0.1294031

2.96888 — 2.813691

3.02254 + 2.393851

= 0.306970 + 1.1779801 0.555909 + 0.6438001 0
= 0.306970 — 1.1779801 0.555909 — 0.6438001 0
= —0.345532 + 1.1679101 6.61248 +0.074971 0
= —0.345532 — 1.1679101 6.61248 — 0.074971 0

0.773369 + 0.0931051

3.84154 + 3.289821

5.14819 — 5.689851

0.773369 — 0.0931051

3.84154 — 3.289821

5.14819 + 5.689851

—0.760510 + 0.0471871

2.61422 — 0.281301

2.27770 — 1.359611

= —0.760510 — 0.0471871

2.61422 4 0.281301

2.27770 4+ 1.359611

u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u

= —0.321303 + 1.2277801 —1.01750 — 3.631301 0
= —0.321303 — 1.2277801 —1.01750 + 3.631301 0
= 0.347536 + 1.2238601 3.68281 + 6.926021 0
= 0.347536 — 1.2238601 3.68281 — 6.926021 0
= 0.074908 + 1.3276501 2.753281 0
= 0.074908 — 1.3276501 — 2.753281 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
= 0.344101 4 1.2916701 3.17203 + 1.305821 0
= 0.344101 — 1.2916701 3.17203 — 1.305821 0
= —0.320980 + 1.3044601 —1.61489 — 4.179961 0
= —0.320980 — 1.3044601 —1.61489 4 4.179961 0
= —0.023470 + 1.3438301 —5.21500 — 1.384181 0
= —0.023470 — 1.3438307 —5.21500 + 1.384181 0

—0.331164 4 0.5546521

0.61507 — 7.286411

0.06041 + 7.928151

—0.331164 — 0.5546521

0.61507 + 7.286411

0.06041 — 7.928151

= —0.241952 + 1.3343001 —3.17203 4 1.305821 0
= —0.241952 — 1.3343001 —3.17203 — 1.305821 0
= 0.256488 + 1.3364401 —7.32429 + 2.799681 0

0.256488 — 1.3364401 —7.32429 — 2.799681 0

—0.616895 + 0.1658381

1.01750 — 3.631301

1.69390 + 5.028841

—0.616895 — 0.1658381

1.01750 + 3.631301

1.69390 — 5.028841

0.294614 + 0.5653111

—3.84154 4 3.289821

—5.14819 — 5.689851

0.294614 — 0.5653117

—3.84154 — 3.289821

—5.14819 + 5.689851

—0.235241 4 0.5899511

—0.555909 + 0.6438001

—2.19301 + 1.307671

—0.235241 — 0.5899511

—0.555909 — 0.6438001

—2.19301 — 1.307671

u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u

= —0.270507 + 1.3397901 —3.68281 — 6.926021 0
= —0.270507 — 1.3397901 —3.68281 + 6.926021 0
= 0.332666 + 1.3265401 —0.61507 4 7.286411 0
= 0.332666 — 1.3265401 —0.61507 — 7.286411 0
= —0.349042 + 1.3274801 5.43359 — 8.388751 0
= —0.349042 — 1.3274801 5.43359 + 8.388751 0
= 0.334534 + 1.3459601 —1.67515 + 6.841161 0
= 0.334534 — 1.3459601 —1.67515 — 6.841161 0
= —0.038463 + 1.3888301 —6.61248 — 0.074971 0
= —0.038463 — 1.3888301 —6.61248 + 0.074971 0
= —0.341541 + 1.3482201 —4.65634 — 11.018501 0
= —0.341541 — 1.3482201 —4.65634 4 11.018501 0




Solutions to I} V—1(vol + /=1CS) Cusp shape
u = 0.050909 + 1.3902701 —9.88986 + 4.237781 0
u = 0.050909 — 1.3902701 —9.88986 — 4.237781 0
u = —0.060018 + 1.3912407 —5.43359 — 8.388751 0
u = —0.060018 — 1.3912401 —5.43359 + 8.388751 0
uw=0.346017 + 1.3488701 15.16291 0
u= 0.346017 — 1.3488701 —15.16291 0

u= 0.561279 4 0.1911201

—2.61422 — 0.281301

—2.27770 — 1.359611

u= 0.561279 — 0.1911207

—2.61422 + 0.281301

—2.27770 + 1.359611

u = —0.531415 + 0.2397331

1.61489 + 4.179961

2.65426 — 1.133671

u = —0.531415 — 0.2397331

1.61489 — 4.179961

2.65426 + 1.133671

u=0.364240 + 0.3871691

5.21500 + 1.384181

5.54354 — 4.858991

u= 0.364240 — 0.3871691

5.21500 — 1.384181

5.54354 + 4.858991

u = —0.187727 + 0.3575441

— 0.8404451

0.+ 8.123371

u = —0.187727 — 0.3575441

0.8404451

0. —8.123371




II. u-Polynomials

Crossings u-Polynomials at each crossing
1 u™ +7u™ -+ 1051u + 209
C2,C4 u™ —u™ ..~ 185u + 53
c3, Cg, Cy a4 w1
cs, C7 u™ +u™ 4+ 4 185u + 53
Cg, C11,C12 u74—u73+---+u+1
c10 u™ —7u™ 4 ... — 1051u + 209




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
"o 74 73
€1, C10 Yo+ 9y + -+ 1550953y + 43681
€2,€4,C5 Y™ — ATy 4 -+ 27997y + 2809
Ccr
€3,C6,C8 y 461y 4+ 5y +1
€9, C11; C12




